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HENHEFYT

(PERNEZY)

(1) 103X22

= (100+3)%x22
= |00X22+3X%X22
= 2200+66

= 2266

) 105%5

= (100+5)X5
= |00X5+5X5
500425

= 525

3) 102X24

= (100+2)X24
= |00X24+2X24
= 2400+48

= 2448

4 108X7

= (100+8) X7
= |Q0X7+8X7
= 700+56

= 756

5) 107X6

= (100+7)X6
= |00X6+7X%X6
= 600+42

= 642
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6) 98X7

= (100—2)X7
= |Q0X7—2X"7
= 700—14

= 686

1 106X7

= (100+6)X7
= 100X 7+6X7
= 700+42

= 742

8) 99X5

= (100—1)X5
= |00X5—1X5
= 500—5

= 495

@) 97X9

= (100—-3)X9
= |00X9—-3XY9
= 900—27

= 873

(10) 96 X8

= (100—4)X8
= |00X8—4X8
800—32

= 768



